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Candidates are required to give their answers in their own words as far as
practicable.

RIS TG 3797 VIl § &) F 34
Figures in the margin indicate full marks.
' | 39T F 3F QUi e dwa &1
General Instructions :
a4
1) All questions in both the Groups are compulsory.
AT @Uet % Wt Te AT €

ii) Question Nos. 1 to S and 17 to 21 are Multiple Choice type carrying.
| 1 mark each. '

oy o 1 W 5 3R 17 ¥ 21 Ffawedia ¥4 €, [ vl &t 1 37 ¥

IofI'I
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iii)

vi)

Question Nos. 6 to 10 and 22 to 26 are Short Answer I Type carryin

3 marks each. Answer to these questions should not exceed 60 words
each. T

R Ho 6W 10 3R 22 ¥ 26 w-I | W3 €, (0 T F 3 30§ 7 ¢
WIS I 60 TS § AF T E A
Question Nos. 11 to 13 and 27 to 29 are Short Answer II type carrying

4 marks each. Answer to these questions should not exceed 70 words
each.

W "o 11 ¥ 13 3R 27 § 29 wg-3WIE I 999 €, NFH U8F & 4 3% | o
HWE HIW 70 WS F i @ A

Question Nos. 14 to 16 and 30 to 32 are Long Answer type carry
6 marks each. Answer

each.

ing
to these questions should not exceed 100 words
TR W 14 W 16 791 30 ¥ 32 -3 wed ¥, P v % 6 CERSRC i
WH I 100 VR § F T g e
Attempt all parts of questions at one place.
W%mﬂwﬁwwwﬁmﬁwﬁmaﬁ%m

Group - A

Qg - F

( Multiple Choice Type Questions )

( TEfawedim wy )

. Choose the correct answer :

A

1 x5=5
Who was the father of Economics ?
a) J.B.Say b) ©  Maithus
c)  Adam Smith. d)  Mrs. Joan Robinson
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a) .9 b AR
c) UsH finy 4 e s e

v'?” The alternative name of opportunity cost is
a) Economic cost b)  Equilibrium price
c) Marginal cost d) Average cost. -
HTET AN &1 JehioTeh 719 &
a3 arm b)  Hqe wEA

c)  Hm ™ d)  3TEd A

8;/ Market price is defined as
a) Short period market
b) Long period market
c) Very long period market
d) All of these.
AR god 1 g o < &
a)  HCISEHH IR & w9 d
b)  SH®CH TR & &9 H

) 37 a‘[ﬂ‘EIPEImnlv'ﬂl_al-GHI HEIYH
d 3§ @il
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The first condition of firm's equilibrium is

a) Marginal cost = Marginal Revenue

b) Marginal Revenue = Total Revenue

c) Marginal }?Et:warn.lf;= Average Revenue
d) -

Average cost = Average Revenue.
T % HIET B 0T wid &

a)  HEN @A = g ey

b R = e s

c) WW=W¢W
d) 3R @E = afEe am

If total product at 2 units of labour employed is 22 and

total product at
I unit is 10, then MP is

a) 10 D12

c) 14 d) 16.

mﬁzmmﬁmwmzzéﬁﬁlmm 1 W T 10 & A g

a) 10 . ,‘E’y 12
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4.

The first condition of firm's equilibrium is

a) Marginal cost = Marginal Revenue

b) Marginal Revenue = Total Revenue

c) Marginal Revenue = Average Revcnhc.
d) -

Average cost = Average Revenue,

T % W # 9Y TS &

d)  3Hd A = Sl o

If total product at 2 units of labour employed is 22 and

total product at
1 unit is 10, then MP is

https://www jharkhandboard. com
a) 10 SO 12

mﬁgmmﬁm%mm%ﬁﬂlmﬁmﬁmmm%mm
IEA &

a) 10 . ,PJ/ 12
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{ Short Answer I Type Questions )
( WY FT 1 99 )
Answer the l‘ollowing questions : 1x5=15
e vt % wee s,
6. o .
Distinguish between contraction of demand and decrease in demand.

— s . A .
WWW@Wﬂﬁﬁﬁmmﬁﬁqn

7. Mention the basic features of market.
AR Y Wy R Ferfim |

8. Write the features of Monopolistic competition. a |
TSRS Sfaiimen w5t frwaad w ford o

9. Discuss the assumptions of law of demand.

o & fran @ g TARY |
10. Differentiate between substitute goods and complementary goods

wﬁwmqﬁwmaﬁﬁmmm"n

{ Short Answer II Type Questions )

( &g I9T 11 Wy )
Answer the following questions : _ 4x3a19
= ol & IW S

11. __.How is price determined under perfect competition ?

/"
o s o o 4 i ek 2
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.' L2 What is the effect of shift of demand and shift of supply on price ?

A T 4fT QA & ofed T #1 e W o g T ¥ 2

L9

13. What'is the difference between short run and long run production

function ?
TR IR SR IeqRT ol § FT 3 & 2
( Long Answer Type Questions )

( <tet 3T Wy )

Answer the following questions : 6x3=18
y Explain the laws of diminishing marginal utility with the help of diagram.

%@T&ﬁﬁmﬁﬁmmﬁﬁmmﬁmﬁmﬁﬁm

15. ~What do you mean by equilibrium price ? How is it determined in perfect
competition ? Explain with diagram.

HqeH $Hd ¥ o9 T e & ? Tt wieaien § 95 $9 Fruifig 2t 3 0 o
LEEEY

L), How is price determined under monopoly market ?

@ﬁmﬂwﬁq@ﬁtﬁméﬂim% ?
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Group - B
gug -4
( Multiple Chojce Type Questions )

( wgfamedta vy )

Choose the Correct answer - lx5=5

“ﬁﬁ'{?ﬁ

‘I/Z, Which one is included in Sccondary sector ?

a
) lnsurance b) Manufactuy ring

c) Trade d) All of these.

%ﬁumaaﬁﬁnﬁaf@aﬁ@m-ﬁﬁaﬁv&m%?
a) s | b)  fafmi
c) mR o m,

tlg,, Who is the writer of the book 'General Theory of Employm:nt, Interest
and Money' ?

c) J. M. Keynes d)  Marshall,
R 2 S i, mmﬁ’mw_%ﬁwaﬁﬁ )
a) lf[‘ll ' b) Aieqq

L

}},' 3 . ¥ d) i
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19 APC+« APS =
a) 0 v B §
c) - d) Nane of theae

APC + APS = 2

a) 0 by !

<) ¥R (=) d) 7 1 T T
Tax revenue of the Government includes

a) Income Tax 9] Corporate Tax

c) Excise duty d) All of these.

HET & ®7 v & e Tnatatga q ea whem k0
nj WTGET by fm o

c) W YR a7 A Mt
In India one rupee note s issued by

@) Reserve Bank of India

b} Finance Ministry of Government of India

c) State Bank of India

dj None of these.
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( Short Answer | Type Questions )

(ﬁqaﬁﬁulm)

-Answer the following questions -

: 3x5=15

M W 3 8 - .
22.  What IS meant by Nationa] Income ?

UM 31 § T atfiyg €2
23. Define Macro-Economics

RE arvteey ! gftmies &7
'- 23./ W!’lat is factor income ?

W A R )
25. What is Balance of Payment ?

% HIET F Y )
2%,- What is aggregéte demand ?

fes " F= Y 2
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( Short Answer II TyPe Questio

(zarqaﬂ'ﬁﬂ’llﬂﬁ)
4x3=12

Answer the following questions :

fipy el & I S

y What are the

Economics ?
aﬁ%\ﬂéﬂﬁﬂ?ﬂﬂ?ﬁﬁ%:Hﬁﬂﬂa1ﬁaﬂfﬁﬁiﬁ ?

e differences between Balance of Tra

- . M
‘differences between Mlcro-Economlcs and acro

de and Balance of

28. What are th

 Payment ?
SR e aun T Jqer e AW E ?

What is Government budget ? What are the main features of a

. Government budget ?
W ase § T AEE ¥ 2 WER S B qET fadand #741 § 2
( Long Answer Type Questions )

( e I 9 )

6x3=18

Answer the following questions :
A ol & IS

30. Explain the concept of Inflationary gap with the help of a diagram. S
m. State

any two methods of correcting it.
UF TEed F Gerd ¥ Wi 6 A FHGURIT W AT w1 vy

A & gl g1 3u™ Fan |
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31.  What is central bank ? Mention its main functions with reference to

India.
i o 1 ¥ 2 T WE P 1 Ioend WRA % wew H B
32, - .
/Explam Balanced Budget, Surplus Budget and Deficit Budget.

ST =5te, anfuarg awiz @ w2 % ave 9 arE Hi
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